

Θεμα 40

A. $f(x) = (x)^1 + (e^{-mx})^1 = 1 - e^{-mx} \cdot m$

$f'(x) = 0 \Leftrightarrow 1 - m e^{-mx} = 0 \Leftrightarrow e^{-mx} = \frac{1}{m} \Leftrightarrow \ln e^{-mx} = \ln \frac{1}{m} \Leftrightarrow -mx = -\ln m \Leftrightarrow x = \frac{\ln m}{m}$

x	$-\infty$	$\frac{\ln m}{m}$	$+\infty$
f'	-	0	+
f		o.e.	

o.e. to $g(m) = f\left(\frac{\ln m}{m}\right) = \frac{\ln m}{m} + e^{-m \frac{\ln m}{m}} = \frac{\ln m}{m} + m^{-1} = \frac{\ln m + 1}{m}$

B. $g(m) = \frac{1 + \ln m}{m}$, $g'(m) = -\frac{\ln m}{m^2}$
 $g'(m) = 0 \Leftrightarrow m = 1$

m	$-\infty$	0	1	$+\infty$
g'	///	///	0	-
g	///	///	o.e.	

$g(1) = f(1) = 1$

Γ1. $n\mu x + e^{-n\mu x} \leq 1 \Leftrightarrow f(n\mu x) \leq 1$
 όμως $f(x) \geq 1$ } $\Rightarrow n\mu x = 0 \Leftrightarrow n\mu x = n\mu \cdot 0$
 $\Leftrightarrow \begin{cases} x = 2k\pi \\ x = 2k\pi + \pi \end{cases} \quad k \in \mathbb{Z}$

Γ2. $f(x) = x + e^{-x}$, $f'(x) = 1 - e^{-x}$

ε: $y - f(x_0) = f'(x_0)(x - x_0) \stackrel{(0,0)}{\Leftrightarrow} -f(x_0) = -x_0 \cdot f'(x_0) \Leftrightarrow x_0 + e^{-x_0} = x_0(1 - e^{-x_0})$

$\Leftrightarrow x_0 + e^{-x_0} = x_0 - x_0 e^{-x_0} \Leftrightarrow e^{-x_0}(1 + x_0) = 0 \Leftrightarrow x_0 = -1$

$f(-1) = e^{-1}$ Άρα ε: $y - (e^{-1}) = (1 - e)(x + 1) \Leftrightarrow y = (1 - e)x$
 $f'(-1) = 1 - e$

Γ3. $A(0, 2)$ $y - f(x_0) = f'(x_0)(x - x_0) \Leftrightarrow 2 - f(x_0) = f'(x_0)(0 - x_0) \Leftrightarrow$
 $\Leftrightarrow 2 - f(x_0) = -x_0 f'(x_0) \Leftrightarrow 2 - f(x_0) + x_0 f'(x_0) = 0$

Θα θεωρήσει $h(x) = 2 - f(x) + x f'(x)$

$h'(x) = -f'(x) + f'(x) + x f''(x)$

$h'(x) = x \cdot f''(x)$

$f''(x) = e^{-x} > 0$

x	$-\infty$	0	$+\infty$
h'	-	0	+
h		o.e.	

$h(x) \geq h(0) \Leftrightarrow h(x) \geq 1 \Rightarrow h(x) > 0$

οπότε $h(x) \neq 0$

Άρα δεν υπάρχει εφ'απαιτούμενη που να διέρχεται από το $A(0, 2)$